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SLIDING WINDOWS 
THICK 1.00 mm & 0.90 mm 

83010 
T = 1.00 mm 
W = 0.425 Kg/m 
P = 306.855 mm 

83020 
T = 1.00 mm 
w = 0.383 Kg/m 
p = 267.279 mm 

83030 
T = 1.00 mm 
w = 0.317 Kg/m 
p = 232.970 mm 

83040 
T = 1.00 mm 
w = 0.319 Kg/m 
p = 237.850 mm 

83011 
T = 0.90 mm 
W = 0.390 Kg/m 
P = 307.831 mm 

83021 
T = 0.90 mm 
w = 0 .356 Kg/m 
p = 268.374 mm 

83031 
T = 0.90 mm 
w = 0.286 Kg/m 
p = 233.870 mm 

83041 
T = 0.90 mm 
w = 0.289 Kg/m 
p = 237.501 mm 

GROUP 83:XXX 

20 80 I 

-
T 

' 

17,98 

T 
0-, 
0-, 
'Sl'"' 
N 

17,98 

T 

0-, 
0-, 

<0' 
'Sl'" 

25,40 

-- , 
T 

00 
00 
U')' 

...... 

SLIDING WINDOWS 
THICK 1.00 mm & 0.90 mm 

83050 
T = 1.00 mm 
W = 0.261 Kg/m 
P = 153.390 mm 

83060 
T = 1.00 mm 
W = 0.251 Kg/m 
P = 184.188 mm 

83070 
T = 1.00 mm 
w = 0.351 Kg/m 
p = 247.980 mm 

83080 
T = 1.00 mm 
w =0.153Kg/m 
p =114.807mm 

83051 
T = 0.90 mm 
W = 0.236 Kg/m 
P = 194.127 mm 

83061 
T = 0.90 mm 
W = 0.231 Kg/m 
P = 185.648 mm 

83071 
T = 0.90 mm 
w = 0.320 Kg/m 
p = 246.709 mm 

83081 
T = 0.90 mm 
w =0.138Kg/m 
p = 116.360 mm 

GROUP 83:XXX 
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SLIDING WINDOWS 
THICK 0.80 mm 

83801 
T = 0.80 mm 
w = 0.453 Kg/m 
p = 388.265 mm 

83802 
T = 0.80 mm 
W = 0.428 Kg/m 
P = 302.949 mm 

83803 
T = 0 .80 mm 
W = 0.306 Kg/m 
P = 282.890 mm 

83804 
T = 0.80 mm 
W = 0.246 Kg/m 
P = 209.566 mm 

GROUP 83:XXX 
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SLIDING WINDOWS 
THICK 0.80 mm 

83805 
T = 0.80 mm 
w = 0.352 Kg/m 
p = 306. 704 mm 

83806 
T = 0.80 mm 
W = 0.277 Kg/m 
P = 255.025 mm 

83807 
T = 0 .80 mm 
W = 0.314 Kg/m 
P = 288.682 mm 

83808 
T = 0.80 mm 
W = 0.184 Kg/m 
P = 169.059 mm 

GROUP 83:XXX 


